!
" #%&
o ( ( ) ¢
( + -0

# $
% &
¢ )+
1 &$$ #(
" -0 ,.-
, )**+$ 1 1| 2 3 . 1# 52$
( 1( 2 )
45%$)6 ’
$ $ $ 1 <2
( H
$
|
3 $ : (
$
<
1 7*82
$ $ (
9
=" L B
1 $ $ 2 #o==r7,
# $ 5@ * @
$
@ 1
$ 2 $
$

5) 1 # 2 $



Motor 2

Motor 2

? G
( 46 @@H
E 46 7**
E 46 5)*
> 46 5@
> > 46 5*
: 46 A+D
J $1 7 24-6 7.5@
ES$1 7 24-6 A;55 A
> ; 486 F7T@
> E # 486 F5+*
> J # 486 BC "5D*
E K 1 246 A+C
EK 1( 246 Y+
( 4 6 5@*
( 46 5@*
# |/ 46 7*
> 2?2 | 4-6 Wk
$ n
$
#o
5) " A
" | #
BC*8 "5D*8
E :
; 3
1# )2
A

F5++8
F7@8

)2
; # )2 3
1# A2

1 2

3 $

5/ 1> )@$)7G2 "
HCI5
3 5

##t
( $
(
" +%) 55 #

" . 1,2 -
#?<

4A6

; 1,>02



4762

$

#$ (

<?

(.> .-

$

$" <

4@6

2%

1# @%

1)* 2

* *%k

60 5
- 17

2*



>0 * 5 -
*%
* * _ *%
*% ) ;|
*)
*)@ <
L>? 1L > ? 2 4D6
A
M
3
1# D2
2
0
; 1
(2
#0
* *%

8Y(

)2



$ # -
$ $ $ 5 % H=*C2 & " $
$ " ! ( &$!
. @ 3A 1
0 $ $ (%0
4H6 ) $K 1)**C2% ' 1& (
' &$,
@ 3A 1
/ $ (%0
3 A S | 1528 %
(#M
} ( # (88, @ ( 3A
1 1
446 4) 14! $- $K
$ 77  $#  1)*552%$% /
C7N 1?2 # ,?28&%
HAN / K
1 3 , 1,.2)*55%
2 # $ $0
@ $ O $ 1)*5%2$%>
o ' ; " &$
% .-(0,-0.0(.J o $ @+
@5C
DG $>0 $ 1m728$8&L
> ?2 M # = ( & (
3 1 A B (
$ $ 5 /$-A5$ 5@H"SHA
: ( HE  $> 1)*5*2$& P
$ (# : E
&$, @ /& C
$ 7 1 &$/$ $
$I L $ 3
+ E $> 1)*5%2$ %E
$ $ ;.2 3 A 1 1
4) 14! $- $K
$
|>o
M

J-(1<>



